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39-Don't .......... him. He seemsto be sick today.

1) disturb 2) define

3) discuss 4) deny
40- Sheused an......... piece of cloth to clean the table.

1) absorption 2) absorbent

3) absorbing 4) absorb
41- therearea........ number of housesin that area
which areworth living on.

1) limit 2) limitation

3) limited 4) limits
42- It'sdifficult to explain thereasonsfor the........... of
different birds.

1) explanation

2) information

3) consideration

4) migration
43- When you arein adark room, It'simpossible for
YOU........

1) reading 2) toread 3) read 4) reads
44- Minais......... of her friend’s educational success at
school.

1) jealous 2) vicious 3) precious  4) serious
45- The subway has become too costly means...........

1) expensive 2) cheap

3) consumption 4) extreme

46- The computer isan electronic machine which

can......... complicated problems.

1) make 2) provide 3) solve 4) protect
47- Mrslrani usually has her apartment ...........

1) to clean 2) clean

3) cleaning 4) cleaned
48- Hewill start the............ of a famous book.

1) translation

2) consumption

3) limitation

4) junction
49- Your friend always leaves the door open.

Iwish my friend............ the door open.

1) hadn’t left 2) won't leave

3) hasn't left 4) wouldn’t leave
50- There are defined distances at which comfortable
when dealing.......... people.

1)in 2) on

3) at 4) with
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